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£l )l Bl

bl e &l ,8 o il (m) glis ) Y
B.S F.S + Ah _
A 194.600
0.054
B 189.200 189.200
0.032
C 186.000 186.000
0.010
D 187.000 187.000
0.005
E 187.500 187.500
0.040
F 183.500

AHAB =(B.S, - F.SB) =(194.600-189.200) = 5.40cm =5.40/100 = 0.054m
AHBC =(BS,— F'Sc) =(189.200-186.000) =3.2cm =3.2/100=0.032m
AHCD =(BS.—F.5 )= (186.000-187.000) = —1em =—-1/100=-0.01m

AH _=(BS

C
D
E

- F.SE) =(187.000—-187.500) = —0.5¢m =-0.5/100 = —0.005m

AHEF =(BS, ~FS,)= (187.500—-183.500) = 4cm =4/100 = 0.04m

FUA s s bawgie glis,) WS =

FUA s s bawgie glis)) WS =

FUA b s bawgio glas) OW3] =

FUA (b s bawgie glis)] Y]

%&M)b

%&M)b

(Ah )+ (ARg e )+ (AR )+ (AR )+ (AR, )

5
(0.054)+(0.032)+ (- 0.01)+ (= 0.005)+ (0.04)
5
0.054+0.032-0.01-0.005+0.04 _ 0.111
5 5

0.022m

F b b 0 alolé

MM}DM
FU A b s bawgio glis)| M

100m

146 0.022

X

— x:>146x=100><0.022:>146x=2.2:>x=ié: x=0.01%

100




o095 Jl blis dhold

bl YL 6 owb ,b
A 196.700 192.700
B 204.400 174.000
C 218.000 154.000
D 234.000 139.600
E 247.000 129.600
F 256.000 110.000

A i 5 (0) w59 deold 4.00m

B i U (0) 93 dhold 6.90m

C a5 G (0) o y90 dhold 64.00m

D abii U (0) )90 dbols 94.40m

E aaii U (0) )93 dhold 117.50m

Fabii b (0)m)9o abold 146.00m

om9d 5855 58 Joe 1 O
OA=k(t, ~1,)= OA=100(196.700~192.700) = OA =100(4) = 400cm
OA=400/100= OA =4.00m

OB = k(tB —tP) = 0B =100(204.400-174.000) = OB =100(30.4) = 3040cm
OB =3040/100 = OB =30.40m

OC = k(tB —t,)=>0C= 100(218.000—-154.000) = OC =100(64) = 6400cm
OC =6400/100 = OC =64.00m

OD = k(tB - tP) = 0D =100(234.000-139.600) = OD =100(94.4) = 9440cm
OD =9440/100 = OD =94.40m

OF = k(tB —tP) = OE =100(247.000-129.600) = OE =100(117.5) =11750cm
OE =11750/100= OE =117.50m

OF = k(tB - tP) = OF =100(256.000—-110.000) = OF =100(146) =14600cm
OF =14600/100 = OF =146.00m




